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Ql.

Q2.

Q3.

Q4.

Q5.

Which Harappan site/city was divided into Ql.

three parts?
(a) Kalibanga
(b) Dholavira
(c) Harappa
(d) Lothal

Consider the following statements. Q2.

1. The poetic part of the Vedas is called
Sambhita.

2. Vedic literature is also called Shruti.
Which of the statements given above is/are
correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the following statements: Q3.

1. In 1234 AD, Iltutmish received the
Khilat by the Caliph of Baghdad.

2. Iltutmish chose Razia as his successor.
Which of the statements given above is/are
correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the following statements: Q4.

1. Alauddin wanted to start a new religion
and wanted to become a world
conqueror like Alexander but
abandoned both these plans after
consultation with Qazi Ataulmulk.

2. Alauddin Khilji declared himself the
second Alexander onhis coins and
assumed the title of Sikandar-i-Sani.

Which of the statements given above is/are
correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

With reference to Mir Kasim, consider the Q5.

following statements:

1. Itis reported from Siyar-ul-Mutkharin
written by Ghulam Hussain that Mir
Qasim collected a new 'tax' called
Khizri Jama.

2. Mir Kasim did not become a puppet of
the British and soon he confronted the
British on the question of 'Dastak’.

Which of the statements given above is/are
correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2
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Qé.

Q7.

Qs.

Q9.

Q1io.

He was a communist of India, he played a
major role in the world communist movement,
identify him from the following options-

(a) C Sankaran Nair

(b) Dadabhai Naoroji

(c) M.N.Rai

(d) Ananda Mohan Bose

Which of the following Indian leader said that
the Indian National Congress was formed so
that it could act as 'Abhay Kapat' to protect
the British Raj?

(@) Lala Lajpat Rai

(b) Gopal Krishna Gokhale

(c) W. C. Banerjee

(d) Surendra Nath Banerjee

Consider the following statements:
1. In India in 1928, V. P. Wadia
established the first labour union.
2. Servant of India Society was founded
by Gopal Krishna Gokhale.
Which of the statements given above is/are
correct?
(@) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

Consider the following statements:

1. "Congress people are hungry for posts”
is the statement of Bankim Chandra
Chatterjee.

2. Bal Gangadhar Tilak compared the
administration of Curzon with that of
Aurangzeb.

Which of the statements given above is/are
correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

The theme of Visakhadatta's ancient Indian
play 'Mudrarakshasa' is-

(a) About the conflict between the gods
and the demons of ancient Hindu
mythology

(b) ‘About the love story of an Aryan prince
and a tribal woman

(c) About the story of the struggle for
power between two Aryan tribes

(d) About the conspirators in the court
during the time of Chandragupta
Maurya
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Ql1.

Q12.

Q1s3.

Q14.

Which of the following is called the city of
temples?
(a) Vatapi (near Bijapur)
(b) Mankir (presently near Solapur)
(c) Kanchi (Kanchipuram in Tamil Nadu)
(d) Aihole (presently Bagalkot district of
Karnataka state)

With reference to the Bhakti movement,
consider the following statements:

1. The Bhakti movement started with the
Alvars and Nayanars in South India,
which later spread to the whole of
South Asia including North India.

2. Chaitanya Mahaprabhu, Namdev,
Tukaram, Jayadeva gave more
articulation to this movement.

Which of the statements given above is/are
correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the following statements;

1. Cornwallis Code was based on the
famous principle of Separation of
Powers. 2- Cornwallis separated the
revenue administration from the
judicial administration.

Which of the statements given above is/are
NOT correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the following statements;

1. Jawaharlal Nehru said that the
economic interests of India and
England collide in every field.

2. R. C. Dutt wrote a book titled 'Poverty
and UnBritish Rule in India'.

Which of the 'statements given above is/are
correct?

(@) lonly

(b). 2 Only

(c) Both 1 and 2

(d) Neither 1 nor 2
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Q15.

Q1le.

Q17.

Q1is.

With reference to the Butler Committee,
consider the following statements;

1. Indian State Committee constituted a
committee in 1929 under the
chairmanship of Sir Hartcourt Butler,
which is also called Butler Committee.

2. This committee was formed to
investigate and clarify the relationship
between the supreme authority and the
native kings.

Which of the statements given above is/are
NOT correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1, nor 2

At which of the following locations the value of
‘e’ is the largest :

(@) on top of the Mount Everest

(b) on top of eiffel tower

(c) at a 21- storey building on Equator

(d) (d) At a campsite in Antarctica

Which of the following statements is true
regarding ASIGMA which is recently in the
news?

(@) Itis the missile defence system recently
developed by Israel.

(b) It is the cyber security software
developed to protect our computers
from malwares.

(c) It is a Bangalore based defence start-
up which has won Defence India
StartUp Challenge 5.0 .

(d) It is an in-house messaging service to
meet real time data transfer and
messaging requirements of the Indian
Army.

A person, who is of unknown blood group,
meets with a serious accident and needs blood
transfusion immediately. Which one of the
blood groups mentioned below and readily
available in the hospital will be safe for
transfusion?

(a) O, Rh-

(b). O, Rh+

(c). AB; Rh-

(d) AB, Rh+
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Qio9.

Q20.

Q21.

Consider the following defence technologies.

1. Indrajaal : Indigenously developed
cluster bombs which can hit multiple
target.

2. Advanced Chaff Technology electronic
countermeasure technology to protect
naval ships and fighter jets from radio
frequency guiding mechanism of enemy
missiles.

3. CADS-500 Russia’s missile defence
system with 500 KM range which is
under development.

Which of the pairs are correctly matched?

(@) 1 and 2 only

(b) 2 only

(c) 3 only

(d 1,2and 3

What is I-STEM which is currently in the
news?

(@) It is the national portal for researchers
to search specific R&D facilities they
need for their work.

(b) It is the innovative web platform to
connect all laboratories performing
stem cell research across India.

(c) Itis the NASA program to engage
students in US universities in the
NASA space mission.

(d) It is a government scheme to increase
the participation of women in the
Science, Technology, Engineering and
Mathematics career.

Which of the following statements<s not
correct regarding Aquamation, a method of
disposal of human or animal bodies after
death?

(a) The body of the deceased is immersed
in a mixture of water and strong alkali
for a few hours in a pressurised
cylinder.

(b) It is an environment friendly method of
disposal of the body as it reduces the
greenhouse gas emissions by 35%
compared to the traditional cremation
method.

(c) Heatis not applied in this method ,
therefore it is called flameless
cremation.

(d) Only a neutral liquid called sterile
effluent and bone fragments remains
after the process completes.
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Q22. Consider the following sectors/ Products.

1. White Goods

2. Telecom and Networking products

3. Medical devices

4. Mobile phones

5. Technical textiles

For which of the sectors/Products,
Government of India has approved Production
Linked Incentive Schemes to boost
manufacturing capacity and to generate
employment.

Select the correct answer using the codes
given below.

(@ 1, 2,4and 5

(b) 2, 4and 5

(¢) 1,3,and 5

(d) 1,2,3,4, and 5

Q23. Consider the following statements with
reference to Certificate of Deposits(CDs):

1. Certificates of deposit (CDs) are
unsecured, negotiable, short-term
instruments in bearer form, issued by
commercial bank.

2. Unlike other time deposits, Certificates
of deposit are not subject to SLR and
CRR requirements.

3. Certificates of deposit are issued at a
discount to face value.

Which of the statements given above is/are
correct?

(@) 1 only

(b) 1 and 3 only

(c) 2 and 3 only

(d 1,2and 3

Q24. Consider the following statements:

1. Tariffs levied on imported goods to
offset subsidies made to producers of
these goods in the exporting country is
called antidumping duty:

2. Countervailing duty is a‘protectionist
tariff that a domestic government
imposes on foreign imports that it
believes are priced below fair market
value.

Which of the statements given above is/are
NOT correct?

(@)1 only

(b). 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2
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Q25.

Q26.

Q27.

Which of the following comes under the Non- Q25.

Tax Revenue of the Central Government in
India?
1. Interest receipts on loans to states 2.
Surpluses from the Reserve Bank of
India
2. Escheats
3. External Grants
Select the correct answer using the code given
below.
(@ 1, 2 and 3 only
(b) 2, 3 and 4 only
(c) 1 and 4 only
(d 1,2,3 and 4

In the context of the National Q26.

Multidimensional Index, consider the following
statement:

1. It is released by the NITI Aayog in
association with UNDP and Oxford
Poverty and Human Development
Initiative.

2. Though it is based on the Global
Multidimensional Index of UNDP, it
has more indicators than Global MDI.

Which of the statements given above is/are
correct?

(@) 1 only

(b) 2 Only

(c) Both 1 and 2

(d) Neither 1 nor 2

Which of the following statements is true Q27.

regarding “ RBI Retail Direct” Scheme ?

(@) It is an online platform launched by
RBI for retailers to buy goods directly
from the wholesalers:

(b) Under it, RBI allowed small retail
investors to invest in G-secs by
opening gilt accounts with the RBI.

(c) Under it , commercial banks can give
retail loans to-people at reduced
interest rates so as to boost production
of goods.

(d) Underit, RBI is proposing a new
category of banks known as retail
banks or.consumer banks which will
cater only to individual consumers
rather than business.
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Q28.

Q29.

Q30.

Consider the following statements regarding
key safety net measures taken by the

Government of India to prevent distress during

COVID-19:

1. Pradhan Mantri Garib Kalyan Rojgar
Abhiyan (PM-GKRA) is launched to
provide immediate employment and
livelihood opportunities to returnee
migrant workers across 6 states of
Bihar, Jharkhand, Madhya Pradesh,
Odisha, Rajasthan and Uttar Pradesh.

2. Atma Nirbhar Bharat Rojgar Yojana
(ABRY) is launched to reduce the
financial burden of the employers and
encourages them to hire more workers,
implemented by EPFO.

Which of the statements given above is/are
correct?

(@) 1 only

(b) 2 Only

(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the following statements with
reference to ‘Liquidity Adjustment Facility
(LAF)’ of the Reserve Bank of India (RBI):
1. It helps banks to adjust their daily
liquidity mismatches.
2. Reverse Repo is a part of the LAF.
3. This facility is available to Scheduled
Regional Rural Banks (RRBs) in India.
Which of the statements given above is/are
correct?
(@) 1 and 2 only
(b) 1 and 3 only
(c) 2 only
(d 1,2 and 3

Consider the following statements with
reference to Asian Infrastructure Investment
Bank (AIIB)

1. The Asian Infrastructure Investment
Bank (AIIB) was officially launched in
2014 by China and currently have
more than 100 member countries.

2. The AIIB is aimed at providing finance
to infrastructure projects in the Asia
region, as a multilateral institution.

3. India’s shareholding is the second
highest only after China.

Which of the statements given above is/are
correct?

(@) 1 only

(b) 2 only

(c) 2 and 3 only

(d 1,2 and 3

Q28.

Q29.

Q30.

COVID-19 & SR Tbe Bl Ab & ol HRd THR
SR ST Y T GR&T Il & ey H Faferad
FYA R TR SI;
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& B T3 8 3R 37 EPFO GRIT HRIffad
ﬁ%&rﬁﬁﬁwwwﬁ%mm

1
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YR o1 dF (RBI) &1 TRA THRISH JfaeT
1. (LAF) & Heu ¥ FHfafad oy &R fdar
Gl D
2, g SP! @I U e Taffy 9ud HI
AN ®1 H Agg HRdl g
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(@) Had 1 3R 2
(b) Had 13 3
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(d) 1,233
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w%naﬁ?a?fzrmﬁsﬂéﬂooﬁs{f%W
ERU
2. USMS3HISel Dl Jexd SgUaliy TR g A
TR &= & gfarc! e uiareHst & faa
PHEETEIE
3. URd &) [gRIER! 9H & 91¢ gk AR R &
Iuad Byl | B Ay A TE B/
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(b) HId 2
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(d) 1,233




Q31.

Q32.

Q33.

Q34.

The Union Budget of any financial year (FY)
include which of the following data sets:

1. Actual data of the preceding FY

2. Actual data of the current FY

3. Budgetary estimates for the following

FY

Which of the statements given above is/are
correct?

(@) 1 only

(b) 2 only

() 2 and 3 only

(d) 1 and 3 only

What do you mean by shrinkflation?

(@) It is a form of hidden inflation in which
that involves reducing the size of the
product while maintaining the sticker
price.

(b) It is a type of inflation where the size of
the GDP shrinks while high inflation
persists in the economy.

(c) Itis a type of inflation where economic
opportunities in an economy shrinks
while high inflation persists.

(d) Both (b) and (c) are correct.

Consider the following indices and surveys.
Financial Inclusion Index
Consumer Confidence Survey
Digital Payment Index
Inflation Expectation Survey of
Households.
Which of the above is released or conducted by
the RBI?

(@) 1 and 3 only

(b) 2 and 4 only

(¢) 1,2 and 3 only

(d) 1,2,3, and 4

PO

e-RUPI, a digital voucher which is being
recently launched by the Prime Minister, can
be used for which of the following purpose/s.
1. To deliver benefits of government
schemes.
For Vaccination
For ration payments
For B2B transactions
To interchange with physical currency.
To act as a digital currency.
Select the correct answer using the codes
given below.
(@ 2, 3,4 and 5 only
(b) 1, 2, 3, and 4 only
(¢) 3,4, and 6 only
(d) 1, 3, 4, and S only

oUW
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(d)
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Q35. Which of the following statements is not true
regarding Deposit Insurance and Credit
Guarantee Corporation (DICGC)?

(a) Deposit Insurance is provided by
DICGC to all commercial banks except
branches of Foreign Banks.

(b) DICGC registers a bank as insured
immediately and automatically when a
banking licence is issued to it by RBI.

(c) Deposit Insurance is paid to DICGC by
banks and not recovered from the
depositors.

(d) If RBI imposes any restriction on bank
then DICGC can make interim
payments to depositors.

Consider the following statements regarding
the importance of predators.
1. Predators are as conduits’ for energy
transfer across trophic levels.
2. Predators keep prey population under
control.
Which of the statements given above is/are
correct?
(@) 1 Only
(b) 2 Only
(c) Both 1, and 2
(d) Neither 1 nor 2

Q36.

Which of the following statement correctly
describes the concept of resource partitioning?
(@) It is the division of limited resources by
species to help avoid competition.
(b) Efficiently utilising the resources to
maximise chances for survival.
(c) Parasitic mode of life ensures free
lodging and meals from host.
(d) This is a type of interaction where
resource is limited and the competition
is increased.

Q37.

Q38. Consider the following statements:

1. Saprotrophs meet their energy
requirement from degrading dead
organic matter.

2. Secondary productivity is the rate of
formation of new organic matter by
consumers.

Which of the statements given above is/are
correct?

(@) 1 Only

(b) 2 Only

(c) Both 1, and 2

(d) Neither 1 nor 2

Q35.

Q36.

Q37.

Q38.
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(d)Adr13RAE2

fFufafad & @ oF a1 sy IareE v &
S[GYRUN T gt guf BT 82
(a) U8 Ufaweyl § = H Heg o & fog
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Q39.

Q40.

Q4a1.

Q42.

Consider the following statements regarding
Ecological Pyramid.

1. Pyramid of biomass shows a sharp
decrease in biomass at higher trophic
levels.

2. Pyramid of energy flow is always
upright.

3. Pyramid of biomass in sea is generally
inverted.

Which of the statements given above is/are
correct?

(@) 1 Only

(b) 1, and 2 Only

(c) 2, and 3 Only

(d) 1,2, and 3

Consider the following statements
1. The Protected Area coverage in the
country has been steadily increasing.
2. The coverage of Protected Areas has
now increased to 10.03% of country’s
geographical area.
Which of the statements given above is/are
correct?
(@) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

Consider the following statements regarding
Conservation of Migratory Species of Wild
Animals (CMS) -

1. Itis an environmental treaty of the
United Nations.

2. It covers only terrestrial and avian
migratory species throughout their
range.

3. India is a party to CMS.

Which of the statements given above is/are
correct?

(@) 1 and 2 only

(b) 3 only

(¢) 1 and 3 only

(d) 1,2, and 3

Consider the following pairs of pollutants and
associated disease-

1. Nitrates- Minimata

2. »Mercury- Black Foot

3. Arsenic- Blue baby syndrome
Which of the above pair/s is/are correctly
matched?

(@) 1 and 2 only

(b) 1,2, and 3

(c) 3 only

(d) None

Q39.

Q40.

Q41.

Q42.
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Q43.

Q4a4.

Q45.

Consider the following statements regarding
Methane emission.

1. Livestock emissions — from manure
and gastroenteric releases — account
for roughly 32 percent of human-
caused methane emissions.

2. Methane has accounted for roughly 30
percent of global warming since pre-
industrial times and is proliferating
faster than at any other time since
record keeping began in the 1980s.

Which of the statements given above is/are
correct?

(@) 1 Only

(b) 2 Only

(c) Both 1, and 2

(d) Neither 1 nor 2

According to UNEP which of the following are
part of three planetary crisis?
Climate Change
Biodiversity Loss
Population growth
Ozone depletion
Pollution
Choose the correct answer from the codes
given below:
(@) 1,2, and S only
(b) 1,2, and 3 only
(¢) 1,2, and 4 only
(d) 1,3, and 4 only

o=

Consider the following statements with
reference to the ‘United Nations Convention to
Combat Desertification (UNCCD):

1. The fifteenth session of the Conference
of the Parties (COP15) of the United
Nations Convention to Combat
Desertification (UNCCD) will take place
in India.

2. Itis the first and only internationally
legally binding framework set up to
address the problem of desertification.

Which of the statements given above is/are
correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Q43.

Q44.

Q4s.
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Q46.

Q47.

Q4s.

Q49.

With reference to Kigali Agreement an
amendment to Montreal Protocol, consider the
following statements:

1. Under the Kigali agreement parties to
the Montreal Protocol will phase down
production and consumption of
Hydrofluorocarbons (HFCs).

2. While HFCs do not deplete the
stratospheric ozone layer, they have
high global warming potential, which
have adverse impact on climate.

Which of the statements given above is/are
correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the following statements with respect
to One horned Rhino:

1. One horned rhino are endemic to India.

2. In India they are found in Uttar

Pradesh, West Bengal, and Assam.

Which of the statements given above is/are
correct?

(@) 1 only

(b) 2 only

(c) Both 1, and 2

(d) Neither 1 nor 2

Which of the following statement correctly
describes 'Endemism'?
(a) Species with less population may move
to the category of endangered species.
(b) Species that are not found existing
after intense searches.
(c) Species that are found only in some
particular areas.
(d) Species that have come from abroad.

Which of the following statement is/are
correct?

1. Eutrophication is increase in
concentration of a toxin, such as
pesticides, in the tissues of tolerant
organisms at successively higher levels
in a food chain

2. Biomagnification is increase in the
concentration plant nutrients in an
aging aquatic ecosystem.

Choose the correct answer from the codes
given below.

(@) 1 Only

(b) 2 Only

(c) Both 1, and 2

(d) Neither 1 nor 2

Q46.

Q47.

Q48.

Q49.
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Q50.

Q51.

Q52.

Q53.

Arrange the following greenhouse gases in
decreasing order of their contribution to global
warming.

1. Water Vapour

2. Carbon dioxide

3. Methane

4. Ozone

5. Nitrous oxide
Choose correct answer from the code given
below.

(@) 12345

(b) 23145

(c) 21345

(d) 21453

Which of the following can be done under the
provisions of Article 131 of the Constitution of
India ?

(a) Rajya Sabha can recommend the
Parliament to make a law with respect
to any matter enumerated in the State
List.

(b) A State government can Directly
approach the Supreme Court in
matters of dispute with the Central
government or any other state
government.

(c) A member of the Parliament can move
a privilege motion against any other
member of the Parliament.

(d) The president can seek the opinion of
the Supreme court on any question of
law or fact of public importance.

Lok Adalats, an alternate dispute resolution
tool, is not used for mediation in which/of the
following?

1. Motor-accident claims

2. Disputes related to public utility

services

3. Matrimonial‘disputes

4. Divorce
Select the correct answer using the code given
below:

(@) 4 only

(b) 2.and 3 only

(c) 1 only

(d) 3'and 4 only

Consider the following:
1. "Himachal Pradesh
2. Manipur
3. Haryana
4. Tripura
Which of the above states have been the
former union territories?
(@ 1 only
(b) 1, 3 and 4 only
(c) 2, 3 and 4 only
(d) 1, 2 and 4 only
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Q52.
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Q54.

Q55.

Q56.

With reference to Amendments of
Fundamental Rights in India, consider the
following statements:

1. Fundamental Rights can be amended
by the Parliament only through a
constitutional amendment act.

2. Any amendment to Fundamental
Rights requires a special majority of
Parliament along with the consent of
half of the state legislatures.

Which of the statements given above is/are
correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

It is a command issued by a court to an
authority directing it to perform a public duty
imposed upon it by law. It can be issued when
an authority vested with a power improperly
refuses to exercise it. It can be issued to any
kind of authority in respect of any type of
function — administrative, legislative, quasi-
judicial, judicial. It is used to enforce the
performance of public duties by public
authorities. This is the most likely description
of which writ under Article 32?

(a) Quo-Warranto

(b) Mandamus

(c) Certiorari

(d) Prohibition

With reference to the Central Vigilance
Commission (CVC), consider.the following
statements :

1. It consists of central vigilance
commissioner along with 2 vigilance
commissioners.

2. It is controlled Ministry of Personnel,
Public Grievances, and Pensions.

3. It submits its report to the Parliament
of India.

Which of the ' statements given above is/are
correct?

(@) 1only

(b). 2 and 3 only

(c). 2 only

(d)1,2and 3
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Q57.

Q58.

Q59.

With reference to Supreme Court, consider the
following statements:

1. The original Constitution of 1950
envisaged a Supreme Court with a
Chief Justice and 7 puisne Judges.

2. A person who has been a Judge of the
Supreme Court is debarred from
practising in any court of law or before
any other authority in India.

3. The proceedings of the Supreme Court
are conducted in English and Hindi.

Which of the statements given above is/are
correct?

(@) 1 only

(b) 2 only

(¢) 1and 2 only

(d 1,2 and 3

Which of the following statement is not correct
with regard to the changes brought by the
44th Amendment Act of the Indian
Constitution?

(a) A new Directive Principle has been
added, stating that the State must
maintain social order in order to
promote the welfare of the people.

(b) It provided for a provision that the
President may request the Council of
Ministers to rethink any advice given to
him.

(c) The Right to Property was removed
from the list of Fundamental Rights.

(d) It provided that an Emergency can be
proclaimed only on the basis of written
advice tendered to the President by the
Prime Minister only.

"It is a legislative mechanism to approve the
fast-tracking of the passage of outstanding
demands for grants‘withoutdiscussion. The
Speaker of the House has the authority to
invoke this mechanism to conclude
discussions on financial proposals within the
time specified:" The above lines best describe
which of the following Parliamentary
procedure?

(a) Simple closure

(b)» Closure by compartments

(c). Kangaroo closure

(d) Guillotine closure

Q57.

Q58.
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Q60.

Q61.

Q62.

With reference to legislative powers of Union
Territories, consider the following statements:

1. Parliament can legislate on subjects in
State list with respect to Puducherry
and Delhi,

2. Legislative Assembly of Delhi can make
a law on all the subjects of State List
and the Concurrent List.

3. The President can make regulations for
the peace, progress and good
government of all the Union Territories.

Which of the statements given above is/are
correct?

(@) 1 only

(b) 2 and 3 only

(c) 3 only

(d 1,2 and 3

Consider the following statements with
reference to Contempt of Court:

1. The Constitution empowers Supreme
Court to punish contempt of itself.

2. A person shall not be guilty of
contempt of court for publishing any
fair comment on the merits of any case
which has been heard and finally
decided.

Which of the statements given above is/are
correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

With respect to Plenary Jurisdiction of
Supreme Court, consider the following
statements:

1. The order or decree passed by Supreme
Court doing complete justice is only
applicable for the applicant and its
related territory only.

2. Until recently, Supreme Court has
never exercised power under this
jurisdiction.

Which of the statements given above is/are
NOT correct?

(@) 1 only

(b) 2'only

(¢)»Both 1 and 2

(d). Neither 1 nor 2

Q60.

Q61.

Q62.

&g IRd SR &t faurh wfadal & deu o,
ﬁyﬁ@aaﬁm‘rmﬁwﬁm
. T ggRY SR foweh & dey # U gt &
famil TR BT &1 Gl §,
2. foech &t faum qut g Tt SR Had gt
& gt fawdt IR B 1 wehat B
3. yufa gt b wfa wew o wifa, wfa
IR 3B WHR & fog Faw 1 Teha B
Sudad HYHl B HH 91/ ¥ el 8/87
(a) Had 1
) Had 2 3R 3
(c) Pdd3
d) 1,233

AT B SaHEAT & day 7 HafaRdd syl
ﬁﬂﬂﬁﬁl@
1. Ty gdied ARG &I W&d DI SGHEAT
B efed B BT YBR a1 B
2. fodit MM S Ur-3IY W e fewof
USHIRIT B3 3R Sifa Tu A FAvfg v &
U PIs Afad Serad D SEHHAT $T aINt

&l g |
SUdd &Y H D A1/ T el 8/87
(@) Had 1
) Pdd 2
(© aFi13R?2
d) 9dr1,98r2

Ydfe FraTed & quf SR & ddy 3, fAgfeied
DY R (TR PIfT ;
1. Fdid rgTerd gR1 YUl =1 Rd gU uikd
TSR 7 fSh! Had 3Mded R ITd Fa&idd
&4 & forg gt e8|
2. PO JHY Ugd db, YT DIC A 39 TSR
&7 & ded ot o ifaa &1 T et foa

gl
I S A B A1/ Y Gal 787 8/3?
(@) Hdd 1
(b) &Hdd 2
(© aHFi13R?2
d Ad1,982




Q63.

Qe4.

Q65.

Q66.

Which one of the following best defines the
concept ‘Judicial Review’?

(a) The power of the judiciary to amend
the laws which are violative of the
principles laid out in the constitution.

(b) The proactive role played by the
judiciary in protection of the rights of
citizens and in the promotion of justice
in the society.

(¢) The power of the judiciary to examine
the constitutionality of legislative
enactments and executive orders of the
government.

(d) The active role played by the judiciary
in guiding and regulating the executive
organ of the state.

The word 'Cabinet' was introduced in the
Constitution of India through which among
the following Constitutional Amendment Act?
(a) 91st Constitutional Amendment Act,
2003
(b) 42nd Constitutional Amendment Act,
1976
(c) 44th Constitutional Amendment Act,
1978
(d) 93rd Constitutional Amendment Act,
2006

Consider the following statements:

1. The President under article 118 of the
Constitution makes rules to regulate
the procedure with respect to Joint
Sitting of the Houses of the Parliamen

2. The hour upon which a joint sitting
shall be adjourned will be determined
by the President.

3. The quorum to constitute a joint sitting
shall be one-tenth of the total number
of members of the Houses.

Which of the statements given above is/are
correct?

(@) 1 only

(b) 3 only

(¢) 1 and 3 only

(d) 2.and 3 only

Which of the following rock systems in India is
the latest one?

(a). Vindhya

(b) Cuddapah

(c) Dharwar

(d) Gondwana
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Q67.

Qe68.

Q69.

Q70.

Consider the following statements with respect
to sea-floor spreading:

1. Sea-floor spreading is the result of
Mantle convection.

2. Sea floor spreading occurs at
convergent and divergent plate
boundaries.

3. The magnetism of mid-ocean ridges
helped scientists to identify the
process of seafloor spreading.

Which of the statements given above is/are
correct?

(@) 1, and 2 Only

(b) 2, and 3 Only

(¢) 1, and 3 Only

d 1,2,3

Consider the following statements with
reference to India’s energy resources:

1. Damodar, Sone and Mahanadi river
valleys are associated with Gondwana
coal deposits of India.

2. Digboi in Assam is an example of a
market-based refinery of crude oil.

3. The Gulf of Kutch has the highest tidal
energy potential in India.

Which of the statements given above is/are
NOT correct?

(@) 1 only

(b) 2 only

() 1 and 3 only

(d) 2 and 3 only

Consider the following statements:

1. Kolleru lake is situated between the
Krishna and Godavari rivers.

2. Harike wetland is situated on the
confluece on Beas and Sutle;.

3. Keoladeo Ghana National Park is
formed by confluence of Gambir and
Banganga rivers.

Which of the statements given above is/are
correct?

(@) 1, and 3 Only

(b) 1, and2 Only

(¢) 25 and 3 Only

(d) 1,2, and 3

Consider the following pairs: Rivers Place of
origin

1. Krishna- Mahabaleshwar

2. Kaveri- Brahmagiri hills, Kogadu

3. Godavari- Aurangabad
Which of the above given pair/s is/ are
correctly matched?

(@ 1, and 2 only

(b) 2, and 3 only

(c) 1, and 3 only

(d) 1,2, and 3
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Q71. Consider the following beaches:
1. Vagator Beach, Goa

2. Golden Beach, Odisha

3. Kadmat Beach, Lakshadweep

4. Rushikonda Beach, Andhra Pradesh

In India, how many of the above have been
certified under the Blue Flag certification?

(a) Only one Beach

(b) Only two Beaches

(c) Only three Beaches

(d) All four Beaches

Q72. With reference to Pharmaceutical Drugs in
India, which of the following statements is/are
correct?

1. Ceiling prices for some drugs have
been fixed by National Pharmaceuticals
Pricing Authority.

2. Drug Price Control Order (DPCO)
usually follows a cost-based pricing
mechanism.

3. All the drugs marketed in the country
are under price control.

Select the correct answer using the code given
below.

(@) 1 only

(b) 2 only

(¢) 1 and 2 only

(d) 1 and 3 only

Q73. The term ‘Doxxing’ often heard in news

corresponds with which of the following
activites?

(a) Tracking user’s browser and download
history with the intent to display pop-up
or banner advertisements.

(b) Publishing others’ personal information
on the internet with malicious intent.

(c) Tracking nearly everything a person
does on their.computer:

(d) Delivering mails disguised as legitimate
message containing malicious links or
attachments.
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Q74.

Q75.

Q7e.

Which of the following is/are the advantage(s)
of fortified rice?

1. Fortified rice kernels can be stored for
years as they have a shelf life of 10
years.

2. They maintain all their micronutrients
even after cooking.

3. It combats the problem of anaemia
caused due to malnutrition.

Select the correct answer using the code given
below:

(a) 1 and 2 only

(b) 2 and 3 only

(c) 3 only

(d) 1,2 and 3

Consider the following statements
regarding the National Digital Library of India:

1. It is initiated under the National
Mission on Education through
Information and Communication
Technology.

2. Budget 2023-24 has proposed to start
a National Digital Library for children
and adolescents.

3. Its objective is to integrate all the
existing digitized and digital contents
across educational institutions of the
nation.

Which of the statements given above is/are
correct?

(@) 2 only

(b) 1 and 3 only

(¢) 1and 2 only

(d 1,2 and 3

With reference to the Indian National Centre for
Ocean Information /Services = (INCOIS),
consider the following statements:

1. It is an autonomous body under the
Ministry of Earth Sciences.

2. It provides daily advisories to fishermen
to help them easily locate areas of
abundant fish in the ocean.

3. Coastal Vulnerability Index mapping
the entire coastline of Indo-Pacific
region at 1:1000 scale has been released
by the INCOIS.

Which of the statements given above are
correct?

(@) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1,2 and 3
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Q77. NETRA built by the Indian Space Research

Organisation is related to which one among
the following?
(a) Spotting black hole in the galaxy
(b) Gravitational wave detection in space
(c) Exploring exoplanets in the universe
(d) Orbital debris tracking capacity in
space

Index of Industrial
the following

With
Production
statements:

1. The Quick Estimates of IIP are released
on 12th of every month with a six weeks
lag.

2. The IIP data is released by the Ministry
of Statistics & Programme
Implementation.

3. The eight core industries accounts for
more than 50 percent of the weight of
items included in the IIP.

Which of the statements given above is/are
correct?

(@) 1 only

(b) 1 and 2 only

(c) 2 only

(d) 1 and 3 only

Q78. respect to the

(IIP), consider

With respect to Graphene, consider the
following statements:

1. Itis the thinnest known material and is
transparent.

2. The electrical conduectivity of Graphene
is higher than the conductivity of
copper.

3. The country’s first'graphene innovation
centre is to be established in Kerala.

Which of the statements given above is/are
correct?

(@) 1 only

(b) 1 and 2 only

(c) 1 and 3 only

(d) 1,2and 3
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Q80.

Qs81.

Q82.

Q83.

Q84.

With reference to the Neutrino, consider the
following statements:

1. Neutrino do not exist in nature and can
only be produced by the scientists in the
laboratory.

2. The India Neutrino Observatory (INO)
aims to study atmospheric neutrinos
only.

3. The establishment of INO has been
challenged by the Tamil Nadu
government in the Supreme Court due
to its detrimental ecological effects on
the Western Ghats.

Which of the statements given above is/are
correct?

(@) 1 and 2 only

(b) 2 only

(¢) 1and 3 only

(d) 2and 3

How many zeroes will be there at the end of 25
x 35 x 40 x 50 x 60 x 65?

(@ 6

(b) 8

(©) 5

(d) 7

A number when divided by 91 gives a
remainder 17. When the same number is
divided by 13, the remainder will be :

@ O

(b) 4

(c) 6

d 3

The average weight of a group of 5 boys is 26.
If we replace a boy of weight 20 in the group
with another boy so that new average
increases by 3.8 kgs, find the weight of the
new boy.

(a) 56

(b) 39

(c) 40

(d) 33

If X is 60% more than Y and X is further
increased by 50% then by what percentage is
X more than Y now?

(a) 100

(b) 120

(c) 140

(d) 85
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Qs8s.

Q8e.

Q87.

Q8s.

Q89.

A city has a population of 50,000. The city's
population is shrinking by 20 percent each
year. So what will be the population of that
city after 2 years?

(a) 32,000

(b) 35,000

(c) 40,000

(d) 30,000

In a certain system, some mathematical
operations are coded using symbols. Thus:
A@Bmeans A+BA$Bmeans A-BA#B
means A x B A & B means (A x B)2
What is the value of (8 & 4) @ 6 $ 17 # 5 as
per this system?

(@) 935

(b) 985

(c) 945

(d) 925

The total emoluments of two persons are the
same, but one gets allowances to the extent of
65% of his basic pay and the other gets
allowances to the extent of 80% of his basic
pay. The ratio of the basic pay of the former to
the basic pay of the latter is :

(@ 16:13

(b) 5:4

() 7:5

(d 12:11

Two Statements S1 and S2 are given below
with regard to five letters A, B, C, D'and E
followed by a Question :
S1: Cis sitting between A and B, and E is
sitting between A and D.
S2: D is sitting on the immediate right to B.
Question: A, B, C, D and E.are seated around
a circular table facing the centre. Who is the
immediate right to D?
Which one of the following is correct in respect
of the above Statements and the Question?
(a) S1 aloneis sufficient to answer the
question.
(b) 'S2 alone is sufficient to answer the
question
(c) S1 and S2 together are sufficient to
answer the Question, but neither S1
alone nor S2 alone is sufficient to
answer the question
(d) S1 and S2 together are not sufficient to
answer the question.

The 288th term of the series a, b, b, ¢, c, c, d,
d,d,d,e, e, e, e, e, ... is:

(@) u

(b) v

(c) w

(d) x

Q85.

Qse.

Q87.

Q88.

Q89.

TUh YR D1 3AMETET 50,000 §1 TR Bt SAMSTST B 1A
20 Ufaerd ge TE1 g1 dl 2 9 d1g I WER Dl SHHST
1 ghf?

(@) 32,000

(b) 35,000

(c) 40,000

(d) 30,000

s 3T ol #, $ o Sfharstt &1 udiat
BT ITINT HIP bifed (5T a1 39 UPR: A @ B
PTASEA+BASBITIAICA-BA#BHI NS B
A x B A & BHT 3 § (A x B)2

S YUl & S8R (8 &4) @ 6 $ 17.#5 DT HA 1

8

3l Al dhigpd uReie™l 99 g, Al Th Bi
ISP Gd - P65% 1 UHAT b U fHed § iR
TR PIVHD T dd-T b 80% oI HIHT deb Hd fHerd
©1Jd & 4 dd 1 §1c & Hel a1 J U &:

(@ 16:13

(b)(5:4

(€ 7:5

(d) 12:11

U 3&R A, B, C, D 3R E P Ty H &Y HYT S1 3R
s2 fafafad € Sff U@ Uy gRT Sald &
%%Ashiséiaﬁaéa%,ah?E,Ash?Dé?aﬁaﬁ
|
$2: D, B ¥ 31 e 93T &
UY: A, B, C, D 3R E U& quIdR Ol & dRI 3R &%
F I IS 1 D & 31 g HH 82
IRITd HYAT 3R Uy & Jay # Fgferiaa § o
1 el 67
(a) PAAS1 UY HT I o & faw yafg g
(b) Pad S2 UY BT IR &1 F R v §
(©) S1 3R S2 TP Y UY T IR a1 & farg
Ui g, dfe1 9 dl adl S1 3R 9 8 had
S2 U% BT IR S & oIe i §
(d) S1 3R S2 Th Iy Y T IR a1 & farg
i el g

fAfRIRaa e #1 288aT UG RGN 24, b, b, ¢, ¢, ,
ddddeeeece..:

(@) u

(b) v

(€ w

(d) x



Q9o.

Qo1.

Q92.

Q9s.

If all the vowels are removed from the Q90.

alphabet, which letter will be 8th to the right
of the 4th letter from the left?

(a) Q

(b) R

() P

(d) S

A Statement followed by Conclusion-I and Q1.

Conclusion-II is given below. You have to take
the Statement to be true even if it seems to be
at variance from the commonly known facts.
Read all Conclusions and then decide which of
the given Conclusion(s) logically follows /follow
from the Statement, disregarding the
commonly known facts. Statement: Some dogs
are cats. All animals are cats. All cats are
whites. Conclusion-I: All those dogs which are
cats are also whites. Conclusion-II: All the
animals may or may not be dogs.
Which one of the following is correct?

(a) Only Conclusion-I

(b) Only Conclusion-II

(c) Both Conclusion-I and Conclusion-II

(d) Neither Conclusion-I nor Conclusion-II

The following question consists of a question Q92.

and two statements S1 and S2 below it. When
is Sachin's birthday this year?
S1: It is between March 15 and March 18, and
March 15 is Wednesday.
S2: It is not on Thursday.
Select the correct option in respect of the
above question and the statement?
(a) S1 alone is sufficient to answer the
question.
(b) S2 alone is sufficient to answer the
question
(c) S1 and S2 together are sufficient to
answer the question, but neither S1
alone nor S2'alone is sufficient to
answer the question.
(d) S1 and S2 together are not sufficient to
answer the question.

Two statements S1 and S2 are given below Q93.

followed by a Question:
S1: There are 16 chapters in the book.
S2: Every chapter in the book has 7 pages and
there are 15 other pages in the book as well.
Question: How many pages are there in the
book?
Which one of the following is correct in respect
of the above statements and the question?
(@) S1 alone is sufficient to answer the
question.
(b) S2 alone is sufficient to answer the
question.
(c) S1 and S2 both alone are sufficient to
answer the question.
(d) S1 and S2 together are sufficient to
answer the question.

gfe gyt TRY &1 guinTer @ get fear s, & &= a1
3eR 913 T A1Y 3feR & g1 I 847 B2

(@ Q

(b) R

© P

d) S

fsp-| 3R frspy-11 & 1g Ue faavur = foor mar
B 3MUD! HYT B I AT 8, Hd 8 98 IH =0
9 1 ql ¥ P Uit g gt | Ft el &1 ug
3R o qu &% o fou 7 fsesf & A o a1 g
TG Y I T DI g HRdl U HYUA PT Al
Y Y AR Rl ¢ | HUT: S Sl (9 1cod ¢ |
gt SR fofeerat &1 9 fafeear it 81 e 3
ot pt ot fofeeral 8, 9 IR L Fepd- 11 et
WM o g1 i Yehd § SR ol 1 FPrafafea & 9
P 1 gl 82

(a) Had [ToPHE- |

(b) P HHY- )

() frep. | 3R s 1 Y

(d) 7o sy 18Ik 71 g1 fsa- 11

fFofafad uy # T Uy 3R 3P A9 Sl HYF S1 3R
2 &1 39 oY g &1 SHfe B9 82
S1:9g 15 AR ¥ 18 AR & T §, 3R 15 AIE &I
FUIR g
S2: U8 AR Pl el g
IR TY 3R Y & T § Tg! fdwed &1 997
a";ﬁ;ﬂp
(a) 3P ST Y HT IW o & faQ yafed B
(b) 3BT S2 U BT IR o & fore yafd g1
(©) S1 3R S2 TP Y YUY BT IR a1 & farw
Ui g, dfcs=1 9 df 3fdbell S1 30 7 Y 3
S2 Y BT IR &1 & o 7aTe g
(d) S1 3R S2 Th Y YUY T IR a1 & farw
Ty 61 g

%ﬁ%reﬁaﬁu:fsmh?szah?maﬁwmrﬁmw
S1: G%d® 16 A G|
S2: J® & YD A T 7 U8 § SR Gdd § 15
3= gy i gl
Uy gXd® | fba- U8 87
g?gaammﬁvmﬁ%ﬁaﬂﬁﬁg%@aﬁﬁaﬁw
?
(@) S1 3hd UY BT IR 3 & forw vl g
(b) S2 3fhd UY BT IR ¢ & forw yaf g
() S1 3R S2 Gl 3Hd UY BT IR 34 P forw
i g
(d) S1 3R S2 TP 1Y UY BT ITR o & forw
ppjir i



Qo4.

Q95.

Q9e.

Seven books labelled P, Q, R, S, T, U and V are
placed side by side. Books P, S, V and T are
Arts, while others are of Science. Books Q, S,
T and V are of Red colour while others are
Brown in colour books. Books R, T and U are
prescribed for Graduate and others are
prescribed for the Postgraduate course. How
many book(s) are Red in colour prescribed for
Graduate course in science?

(@) Q

(b) S

() None

d T

Two men, Chetan and Mani, and two women,
Vaibhavi and Sunaina are in a customer
support team. Only two speak Bengali. The
other two speak Gujarati. Two persons travel
by Metro. Chetan and Vaibhavi travel by
Metro. Sunaina speaks Bengali. Chetan
speaks Gujarati. Which of the following
statement is true?

(a) Vaibhavi speaks Gujarati.

(b) Mani travels by Metro.

(c) Sunaina does not speak Gujarati.

(d) Chetan speaks Gujarati along with

Mani

Rising inequality in many countries has
focused their attention on policies to support
inclusive growth. While some inequality is
inevitable in a market-based economic system,
excessive inequality can erode social cohesion,
lead to political polarization, and ultimately
lower economic growth. Which among the
following is the most logical and rational
inference from the above passage?
(a) Promoting equality is the only way to
ensure higher economic growth.
(b) India needs to encourage political
convergence‘to minimize social discord.
(c) Policies in favour of inclusive growth
can help tackle lower economic growth.
(d) Low economic growth always takes
place when there'is high inequality.

Qo4.

Q95.

Q96:

PQR S, T U 3RV ATd arell ITd G &l T 1Y
TG G P S, V 3R T Hal $I §, STalfes 3=
fagm @t 81 Qb Q S, T 3R V &1 I Pt 8, alfs
mwﬁﬁgw%lgﬁ%&mﬁ?uﬁwas
for Fuifvd § SR 39 UiRe I9ue &1 & fag
fuffea 81 fagm & WA ureasa & fore feat
TP e 1 b1 Feiia €2

@ Q

(b) S

(c) IS &l

d@T

S J3Y, T 3R A0, 3R &1 Afgany, audt 3iR g
gh GgIIdl < H &1 Had gl el aiad g | 3
S TORIC Siad & | &1 Ao Hel 4 I $HRd ¢ | I
3R dHdl AT Y YDA § | G SHTTeh st o |
Wéﬁﬂ?ﬁﬁ‘lﬁ%lmﬁ@rﬁqma?m
Ja §?

(a) dYat ORI St &

(b) T Hel F AT BT ¢ |

(©) AT ORI el st g

(d) T SR AT ORI Siad g 1

D5 Y1 H Tedl g3 SHFT A SD] M AR
{91 o1 g B arell Hferdl TR B PRamn
8| BTl SToTR SR SRITaRIT § $© S-HMT
3aRerd B 1 3raf¥ie SRIHIAT RS TS Bi
¥ HR bl ©, ASHITAD YaAidRol DI 3R d ST §
3R 3fda: e g & HH Hrl 81 IWdd uRwq
T e iNid forar S T+ aren walfde afdbe ud
THIT fhy HI=-11 82
(a) FER 3D Agfg AT B 3 M
P UTTfed BT UHHE I g
(b) HRd H AP faTTfd HH S & forg
IS SRR &1 UidTied & &I
aIH Al g |
(c) GUTARI fahT & el o arail Hifadl gRT &0
31 faepT & Te, ¥ e T Jgrdi U
Bl gl gl
(d) TS I AT BIcll § a S f[dbra
Had HH gidl o



Q97.

Q9s.

The Fourth Industrial Revolution will
accelerate the introduction of game-changing
technologies that will further empower
consumers and enable impossible business
models. The ability to respond to changing
needs of the marketplace will be key to future
success for the present businesses. Which
among the following is the most logical
corollary to the above passage?

(a) Adaptation to the demands of the
market will help businesses succeed in
the Fourth Industrial Revolution.

(b) The use of new technologies and
business models will automatically
ensure success of existing businesses.

(c) Big business houses are equipped
enough to answer the demands of the
Fourth Industrial Revolution.

(d) With its new business models and
empowerment, the Fourth Industrial
Revolution kill the existing businesses.

As digital technology rapidly evolves, so can
the risks children face online — from cyber
bullying to misuse of their private information
to online sexual abuse and exploitation. For
better and for worse, digital technology is an
irreversible fact of our lives. How we minimize
the risks while maximizing access to the
benefits will help shape the lives and futures
of a new generation of digital natives. The
main idea of the passage is that:

(@) Children should be kept away from
digital technology to avoid the risks
they face.

(b) Technology is inevitable, so we should
lessen its cons and widen the reach to
its pros.

(c) Children are bound to be exploited
since technology has penetrated deep
into our lives.

(d) Children below 18 should not be
allowed to use social media for their
own protection.

Q97.

Q98.

T4 Sfefie wifd, wifaeR! aRads Ha are
Mefifeal & sma o digar amh s Susadrsit
DI 3R GG SN auT HH SRiYT qHg o arel
faor 1 afecd &I 9@ UM | IO &1 gRafdd gidt
SHTIRISHATSN & Tl SfohaT i &A1 aHH At
& Y™ 3 Ghadt & Gont gt | FEfiRad & 4
1 HY Iudad IR & SIHR Falddh daaid

?

) SIOTR &1 AT & Ul Sr@a ° aqd
3N Hifd § sraamr & 9% g1 |
Hergdr A |

) T3 Urenffeal td saaumg Hisd &1 SUTRT
[d: Bl 94U addl bl Ahadl gi-ied
B

(¢ dgd 3NN wifc &I [T SIS a1 &
fore 98 ague BRI Ui & g

) 30 U AR ATSd 4T TRITGIH0T & 1Y

B

o geR fSfored Uiifia! ol J fawmiid g3 g, 3t
UhR g & (o8 ATSeR-gfeiT F dbx Aol a1 &
TOUANT U4 Sas I Iaia adT N0l b &g
UHR & Gl 1 IS §s o | fSiorea uenfiat, 7
31 g1 AT g1, TR SiIa- &1 UG- 9 g |
AR f8foTed ARTR®T Bt 74t tigl o1 fdsy T sitaq
AR R BT & 39T USRS AT Ia1d §U
TP TR| DI gH Y HH B ¢ | TR BT T
‘J-ﬂ?i%'ﬁ?:
(a) Sl & THIW VR WeRl A g1 & {o1U 35
fSfSrea G XA T A 7|
b) WENfe! S(UReH &, SUfe g Sue! I
DI HH B 3D ATHI I 3T 9gd |
IEESINEZSICIHY
(c) U] gHR Siia- & 31 i &4 Tt 8
gﬁ:ﬁﬁgﬂ%&ﬂﬂﬂwmaﬂm

|

) 18 IY U HH 3T & T Bl 3P YRE&T
& H TG gU AI=Ie HifSar & IuAT Bt
3fgHfer et &t S e Tl




Q9s.

Q100.

With land-based resources depleting fast,
there would be renewed attempts to further
expand economic exploitation of the world's
oceans. However, if not managed sustainably,
growing economic engagement with the oceans
could risk further aggravation of their already
strained health with serious impact on their
natural role as the single most important CO2
sink and replenisher of oxygen. This, in turn,
could accelerate global warming with
catastrophic effects on fish stocks, climatic
stabilisation, water cycle and essential
biodiversity. On the basis of the above
passage, the following inferences can be been
made:

1. Shifting to economic exploitation of the
world's oceans would help conserve
land-based resources

2. Unmindful economic exploitation of the
world's oceans will cause irreversible
loss to ocean ecosystem

Which of the inferences given above is/are
correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Q99.

One of the main features of Agroecology is that
it looks for local solutions and linkages with
the local economy and local markets, and
keeps farmers in the field with improved
livelihoods and a better quality of life. So,
Agroecology could play a very important role in
ending poverty and hunger in the field. As a
local solution, based on local needs, another
advantage of Agroecology is that it also aims at
the production of more nutritious and
culturally appropriate food which means
production is diversified, so farmers produce a
variety of foods with'different nutrients and
this ensures a balanced diet. Which among
the following is the most logical and essential
message conveyed by the above passage?

(a) All problems related to farmers and
cultivation of crops can be solved by
using Agroecology.

(b) Agroecology can help improve farm
output, tackle hunger and encourage
crop diversification.

() Local nutritional requirements cannot
be addressed without the application of
Agroecology.

(d) Use of Agroecology is imperative for the
elimination of poverty and hunger in
the world.

Q100:

i senfea SaneHl & ol 9 gt St & Y g fay
& HENNRI & D g DI IgM & forg AdHipd
I fsT STE | gTaiifop, Afe ST U YR
$U Y T8 T T o HENERI & WY Sear e
v, 39 TR © € aeTayyl W #1 9iR e
oS gopdt g 3R H1d S33HTRIES & Tad
TEAYU! IR qUT TR BT GA:gfd B B
I pfad YfHeT R 1R TH1d U8 I 81
3R 3= Safafadr R e guret & 1y,
Ig af¥ye 1o & g i IR 9o 51 Sad
m%sﬂwmmﬁwﬁmﬁw
1. fay & merIRI & onfdfe dlg &t 3R
RITIRU, Y- SMTRE SaTei o TRe0
™Il HT |
2. fay & UgRRRI & Sifdasyul snffe g 9
TR UIRRYfA® o & raikad-a

g1 gt
Ife sl & J BI-91/3 91 /87
(@) Hdd 1
(b)-Had 2
@ 1 3R 2 gHr
(d) d9dr1,982

HN-giRfRUfTH! & ge1 fadvasi A 9 ts a5 8 f&
I8 M SATRIT 3R RIFR FoIRT & 1Y R
FHTY SR Jr=i} B! TR Bl 8, AR Py & Aedt
HHH T SR SHa-IRIel! 7R Siid 1 9ga” Jora
UaH ol ¢ | 3AE HIY-uRfRUfd®!, Y& iR
A & e & AU srafdes Tgw@yul YHswT
T Tt g1 B RIF SMAIHATS B YR W
R JH1YE & 0 §, HR-uiRfufas! &1 e ok
3 Y T8 § [ 31 I Sifd DY 3iR
IRpTad T J IuGad HISH &1 IdTe 8, foraer
31 § fob IareH fafaeramyul 8, 3afan foam faftra
Uiy dcdl dTa fafid YR & @ref yardf &1 Iadrg
I ¢ SR I8 AT SR YAMd ol g1 SRfea
URwSe gRT dd Jaife difhd SIR Jayd o
fofafed & ¥ eH-a 82

(a) paml oIk Bl 4 S aeit worsii i

() R Uy e SITRGDh I3 Bl Hiy
IRFRYTIDT & SFIHART & foHT eailfere =Tet
foran o g 3|

(d) fagy & fefar oiR g & S & e By
TRfRUfIST 1 SuahT e B



